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R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
KFHE 4290 % H1 D5 ok AT 114A o FmT 17 11
KT 4290 D7 ok BT 1 1R ok [T 17 13
RFHE RA290F 1D T ok AT 114A o F T 17 13
KT F4290F: DT ok BT 1 1R ok LT 17 13
RFHE 4290 % H1 D8 ok AT 114A o F T 17 14
KT 4292 D2 ok BT 1 1R ok LT 16 13
RFHE 4293 % H1 D3 ok AT 114A o F T 16 12
KT L4294 D8 ok BT 1 1R ok LT 17 8
RFHE 4294 % 1D ok AT 114A o FmT 17 9
KT L4294 H1D9 ok BT 1 1R ok FLHT 17 10
RFRE RA294F 1D 13 ok AT 114A o FmT 16 15
KT F4294% 1D 13 ok BT 1 1R ok FLHT 16 15
RFHE RA294F 1D 14 ok AT 114A o F T 16 20




R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
KRS 42943 HoD 15 ik FEHT 114 ok HT 16 22
RFHE L A294F D17 ok BT 1 1R ok [T 16 24
KFHE 4295 % 1D 2 ok AT 114A o F T 15 13
KT 4295 D3 ok BT 1 1R ok LT 15 14
KFHE RA295% HiD4 ok AT 114A o F T 15 15
KT 4295 D5 ok BT 1 1R ok LT 15 17
KFHE 4295 % H1 D5 ok AT 114A o F T 15 17
KT 4295 H1D6 ok BT 1 1R ok LT 15 18
KFHE RA295F DT ok AT 114A o FmT 15 46
KT F4295% D8 ok BT 1 1R ok FLHT 16 36
RFHE 42955 H1 D9 ok AT 114A o FmT 16 34
KT F4295F H1D 10 ok BT 1 1R ok FLHT 16 32
KL 4295 HoD 11 ik FEHT 114 ik T 16 31




R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
K .42957% HioD 12 ik FEHT 114 ok HT 16 30
KT F4295% 1D 13 ok BT 1 1R ok [T 16 29
RS 7.4295% HhoD 14 ik FEHT 114 ok HT 15 20
RFHE H4295F 1D 15 ok BT 1 1R ok LT 17 1
RS .4295F HioD 16 ik FEHT 114 ok HT 17 4
RFHE 4295 H10D 16 ok BT 1 1R ok LT 17 4
KRS .42957% HioD 18 ik FEHT 114 ok HT 17 5
KT8 F,4295% #1019 ok BT 1 1R ok LT 15 47
RS ,42957% HoD 19 ik FEHT 114 ik T 15 47
KT8 F,4295% #1020 ok BT 1 1R ok FLHT 16 33
K ,4295% HioD 23 ik FEHT 114 ik T 16 35
KT8 H4297F: Hi D4 ok BT 1 1R ok FLHT 16 23
KFHE 43005 H1 D6 ok FEATORA o F T 13 27




R 7 4% R b,
ki-géﬂﬂﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHERA300F DT ok FERT9A o FmT 13 26
KT8 4300 D8 ok [T ORE ok [T 13 25
RFHE R.4300% #1010 ok FERTORA o F T 13 24
KT HA300F H D11 ok AT ORE ok LT 13 22
RFHERA300% H1D 14 ok FERTORA o F T 14 9
KT H4300%F H10D 15 ok AT ORE ok LT 14 11
RFHE RA300% HD 16 ok FERTORA o F T 14 12
KT 4300 H10D 16 ok [T ORE ok LT 14 12
RFHE RA300% H D17 ok FEATORA o FmT 14 13
KT A300F 1D 17 ok AT ORE ok FLHT 14 13
RFHE RA300% H1oD 18 ok FEATORA o FmT 14 14
KT8 H.4300% H1 D20 ok AT ORE ok FLHT 14 7
RFHE RA300% #1021 ok FEATORA o F T 14 5




R 7 4% R b,
ki-géﬂﬂﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHE R.4300% H10D22 ok FERT9A o FmT 14 4
KT8 43009 H1 D23 ok [T ORE ok [T 14 3
RFHE R.A300 % H1 D24 ok FERTORA o F T 14 1
KT8 F,4300% H1 D25 ok AT ORE ok LT 15 25
RFHE 7430025 H10D26 ok FERTORA o F T 15 26
RFHE 4300 D27 ok AT ORE ok LT 15 27
RFHE R.4300% H1 0028 ok FERTORA o F T 15 28
KT8 F.4300 % #1029 ok [T ORE ok LT 15 31
RFHE R.4300% #1029 ok FEATORA o FmT 15 31
KT8 43002 H1D 30 ok AT ORE ok FLHT 15 33
RFHE RA300% #1031 ok FEATORA o FmT 15 34
KT8 43002 H1 D 32 ok AT ORE ok FLHT 15 35
RFHE R.4300% #0037 ok FEATORA o F T 13 29




R 7 4% R b,
ki-géﬂﬂﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W (T
RFHERA309% HD 1 ok FEHT 35A o FmT 12 2
KFEEHA323F D1 ok F BT 44H ok AT 11 37
R 4326 % Hh ok FERT 4R o F T 11 42
KFHER.A326 5 1 ok AT 450 fok iy 11 42 ST )= A L1015
R 4326 % Hh ok FERT 4R o F T 11 42 =M Y= A B101 5
KFHER.A326 5 1 ok AT 450 fok iy 11 42 ST )= A L1025
R 4326 % Hh ok FERT 4R o F T 11 42 =M Y= A D201
KFHER.A326 5 1 ok AT 450 fok iy 11 42 ST )= A 52025
KRS RABTER D1 ok FERT 44A o FmT 11 44
KFESHA330F D1 ok F BT 44H ok AT 11 47
RFHE RA330F DT ok FERT 44A o FmT 11 48
KT 4330 D8 ok AT 44E ok FLHT 11 46
KFHE 4330 % H1 D8 ok FERT 44A o F T 11 46




R 7 4% R b,

ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W (T
RFHE 4333 % Hh ok FEHT 35A o FmT 12 1
KT 4333 %D 1 ok FEHT A% ok T 11 8 FRT 8 —R 1025
RFHE 4333 % H1 D3 ok FERT 4R o F T 11 4
KT 4333F: D3 ok AT 448 ok LT 11 4
RFHE RA333E M D4 ok FERT 4R o F T 11 9
KT8 4333 % Hi D4 ok AT 448 ok LT 11 9
KFHE 4333 % H1 D5 ok FERT 4R o F T 11 27
KT HA333F DT ok P BT 44H ok F AT 11 1
KFHE 4333 % 1D ok FERT 44A o FmT 11 7
KT HA333 %MD 17 ok F BT 3 ok AT 9 23
RFHERA333% MO 18 ok FEHT 35A o FmT 9 22
KT 4333 #1019 ok AT 3 ok FLHT 9 21
RFE R.4333% #1020 ok FEHT 35A o F T 9 19




R 7 4% R b,
ki-géﬂﬂﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHE RA333 % H D21 ok FEHT 35A o FmT 9 7
KT8 4333 % 1D 22 ok AT 34 ok [T 9 8
KRS RA333% #1023 ok FEHT 35A o F T 9 9
KT8 4333 % Hi D24 ok AT 34E ok LT 9 10
RFHE RA333 % #1024 ok FEHT 35A o F T 9 10
KT8 4333 % 1D 25 ok AT 34E ok LT 9 12
KFHE R.4333% #1026 ok FEHT 35A o F T 9 13
KT8 4333 % #1026 ok AT 34 ok LT 9 13
KRS RA333% #0027 ok FEHT 35A o FmT 9 14
RFHE 4333 D27 ok AT 3 ok FLHT 9 14
RFHE R.4333% #1028 ok FEHT 35A o FmT 9 15
KT8 4333 % #1029 ok AT 3 ok FLHT 10 16
RFHE R.4333 % #1031 ok FEHT 35A o F T 10 11




R 7 4% R b,
ki-géﬂﬂﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHE 4333 % #1031 ok FEHT 35A o FmT 10 11
KT8 4333 % H1 D 32 ok AT 34 ok [T 10 10
RFHE R.4333% #1032 ok FEHT 35A o F T 10 10
KT8 4333 % H1 0D 32 ok AT 34E ok LT 10 10
RFHE R.4333% #1033 ok [ AT 3%H3 o F T 10 8
RFHE 4333 % H D34 ok AT 34E ok LT 10 7
RFHE R.A333 % #1034 ok FEHT 35A o F T 10 7
KT 4333 % 135 ok F BT 3 ok F AT 10 5
RFHE R.4333% #1035 ok FEHT 35A o FmT 10 5
KT8 4333 % H10D 36 ok AT 3 ok FLHT 10 4
KRS R.4333% #0037 ok FEHT 35A o FmT 10 1
KT8 4333 % Hi D44 ok AT 3 ok FLHT 9 25
RFHE 4333 % #0048 ok FEHT 35A o F T 10 6
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R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHE RA333% #0053 ok FERT 44R o FmT 11 2
KFHERA349F M 1 ok AT 44E ok [T 11 11
RFHE AT M D1 ok FERT 4R o F T 11 11
RFHE H4349%F Hi D4 ok AT 448 ok LT 11 10
RFHE RA3A9F H D4 ok FERT 4R o F T 11 10
KT8 H.4362% Hi D4 ok AT ORE ok LT 13 4
KRS R.A362% HiD4 ok FERTORA o F T 13 4
RFHE 4362 Hi D4 ok [T ORE ok LT 13 4
KRS R.A362% HD4 ok FEATORA o FmT 13 4
KT HA362% D5 ok AT OHH ok AT 13 9
KFHE 4362 % H1D6 ok FEATORA o FmT 13 8
KT8 43628 1006 ok AT ORE ok FLHT 13 8
RFHE 43628 1D ok FEATORA o F T 13 11




R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFRE R.4362% #1010 ok FERT9A o FmT 13 13
KT8 43628 10D 13 ok [T ORE ok [T 13 21
RFHE RA362% HD 15 ok FERTORA o F T 13 20
KT8 43628 1D 15 ok AT ORE ok LT 13 20
RFHE RA362% #1016 ok FERTORA o F T 13 19
RFHE 4362 D17 ok AT ORE ok LT 13 18
RFHE 43625 D18 ok FERTORA o F T 13 17
KT 43628 10D 18 ok [T ORE ok LT 13 17
RFHE R.4362% #1020 ok FEATORA o FmT 14 15
KT8 43627 #1020 ok AT ORE ok FLHT 14 15
KFHE 4363 % H1 D2 ok FEATORA o FmT 13 1
KT HA363 % D2 ok AT OHH ok AT 13 1
RFHE 4363 % H1D3 ok FEATORA o F T 13 2
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R 7 4% R b,

ki-géimﬁz Fﬁ@% m%ﬁ%ﬁz%;ﬁ oW = K 4 F & F 4 W (T
KT 7.4363 % HioD 4 ok FERT9A o FmT 13
KFHERA36TE D1 ok AT 11#E. ok Ll 15
KRB RA367 8 #1102 ik AT 114 ok HT 15
KFHE RA4367TFE D3 ok AT 11#E. ok Ll 15
KB R A36T e D4 ik AT 114 ok HT 15
R4 43682 ok F T 114 ok F AT 16
KRR R4368F D7 ok AT 114 ok T lT 15 +RT—p
KT 4368 DT ok BT 1 1R ok LT 15 TRT/I—=FF
REFE 4368 8 D 10 ik AT 114 ok HT 16
KFHE H4368F D11 ok AT 11#E. ok Ll 16
KRB 4368 8 oD 12 ik AT 114 ok HT 16
KFHE 4368 F D13 ok AT 11#E. ok Ll 16
KRB R.A368 8 o> 14 ik AT 114 ok EHT 16




R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
KRS RA368 % #1015 ok AT 114A o FmT 16 11
KT8 4368 #1016 ok BT 1 1R ok [T 16 10
RFHE 4368 % #1016 ok AT 114A o F T 16 10
KT HA3T0E D2 ok M 104H. ok F AT 3 15
RFHERA3TOE H1 D2 ok [ AT 104H o F T 3 15
RFHE R A3T2H /D3 ok - HT 104H ok LT 3 13
KRS RAZT2E M D4 ok [ AT 104H o F T 3 12
KT HA3T2% D5 ok M 104H. ok F AT 3 10
K 43725 HhoD6 5 FEHT104H ik T 3 9
KFHE R A3T2% D6 ok M 104H. ok AT 3 9
KRS 43735 HhoD 3 % FERT 1045 ok HT 3 7
KFEEHA3T3E MDA ok M 104H. ok AT 3 6
RFHE RA3T5E Hh ok AT 10AH o F T 3 25

,13,
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R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
K 743763 HhoD2 5 FEHT104H ok HT 17
RFHE R A3T6F D3 ok BT 1040 ok [T 20
KRS 74376 5 D 4 5 FEHT 1040 ok HT 21
KT8 HA376 % D4 ok BT 1040 ok LT 21
KRS 43765 HD6 5 FEHT 1040 ok HT 24
KT HA3T6HZ DT ok M 104H. ok F AT 23
KRS 4378 F D 1 5 FEHT 1040 ok HT 9
KT HA3T8E D2 ok M 104H. ok F AT 27
K 74378 HD5 5 FEHT104H ik T 4
KT8 HA3T8 % D6 ok M 104H. ok AT 6
KRS 4378 % H DT 5 FEHT104H ik T 7
KFHE HA3T8FE D8 ok M 104H. ok AT 8
RFHE R.4380% #1010 ok F T 84H o F T 15




R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
KL 4380 HhoD 11 ok T8 ok HT 16
KT HA380% D12 ok F BT 8% ok AT 1
KRS .43807F HioD 13 5k - HT 1OKH ok HT 28
KT8 .4380 % Hh oD 14 ik FEHT 104 ok HT 31
RS .43807F HhoD 15 5k - HT 1OKH ok HT 1
KT8 HA380F HID 16 ok BT 85HH ok F AT 6
RFHE RA380% HD 16 ok FE T 84H o F T 6
KT HA380% H1D 18 ok BT 85HH ok F AT 7
RFHE 4380 % #1019 ok F T 84H o FmT 8
KT 4380 H10D 19 ok F BT 8% ok AT 8
K F,43807% HioD 20 ok TS ok HT 10
RFHE 74380 % Hi D21 ok AT 8#E ok FLHT 11
K .43807F HoD 21 ok TS ok EHT 11
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R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
K 17,4380 7 Hi oD 24 ok T8 ok HT 12
KT8 F.4380 % H1 D 25 ok AT 8HE ok [T 13
KRS 4386 % HD 1 ok FET64H o F T 9
KT8 4386 & D3 ok AT 654 ok F AT 8
RFHE 4386 % HiD4 ok FET64H o F T 7
KT8 4386 & D5 ok AT 654 ok F AT 5
KFHE 4386 % H1D6 ok FET64H o F T 4
KT HA386 & DT ok AT 654 ok F AT 3
KTHE 4386 % H1 D8 ok FET64H o FmT 2
KT8 F,4386 % D9 ok AT 8#E ok FLHT 26
K ,4386 7% HioD 10 ok TS ok HT 25
KTFHEEHA386F D11 ok F BT 8% ok AT 24
K ,4386 7 HioD 12 ok TS ok EHT 22




R 7 4% R b,
j{i.gﬂﬁ Fﬁ@% H}T%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W (T
RFHE RA386 % HioD 13 ok FE T 84H o FmT 20
RFHE 4386 % HiD 14 ok AT 8HE ok [T 19
RFHE 4386 % #1016 ok FE T 84H o F T 15
KT 4386 & 1D 19 ok BT 85HH ok F AT 2
RFE .43862% #1020 ok FE T 84H o F T 1
KT8 HA38TF MDA ok AT 64E ok LT 22
KT8 1.4388 % HioD 1 ok FET64H o FLlT 57
KT8 43895 D5 ok F BT 5% ok F AT 58
KFHE 4389 % H1 D6 ok FEHT54A o FmT 59-101 Sl va R 1015
KFHE L4389 % 0D 6 ok AT 5HE ok FLHT 59-102 2 va s 1025
K 543897 HiD6 ik BT 5 ok FLHT 59-103 ek 1035
KFHE L4389 % 0D 6 ok AT 5HE ok FLHT 59-105 2y a s 1055
K ,43897 HoD6 ok T 5 ok EHT 59-106 23— va ARy 1065

,17,
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R F 4 RS A
ki-sﬁﬂﬂg Fﬁ@% mi’ﬁz%?ﬁ% o E R A E O3 4 T W5
KT RA43897F H1 D6 ok AT 54H ok Fmy 7 | 59-107 I L RH107 R
KT8 43897 D6 ok LT 5% ok F AT 7 | 59-201 I L E R 2015
K 543897 HiD6 ik BT 5 ok FLHT 7 | 59-202 ek 2025
KT8 FL43897: D6 ok LT 5% ok F AT 7 | 59-203 I L E R 2035
K 543897 HiD6 ik BT 5 ok FLHT 7 | 59-205 3k 2055
K 4389 & HD6 ok e mT 54 ok AT 7 59-206 DIt a by 2065
K 543897 HiD6 ik BT 5 ok FLHT 7 | 59-207 sty 2075
K 4389 & H D6 ok e mT 54 ok AT 7 59-301 At a by 3018
K 543897 HiD6 ik BT 5 ok FLHT 7 | 59-302 3k 3025
K 4389 & H D6 ok W54 ok AT 7 59-303 et a by 3035
K 543897 HiD6 ik BT 5 ok FLHT 7 | 59-305 3y 3055
KT8 43897 D6 ok LT 5%E ok F AT 7 | 59-306 I L a R 306 5
KT RA43897F H1D6 ok [EHT54H ok Fmy 7 | 59-307 I L R HB0T R




R 7 4% R b,
jti-gléﬂﬂ ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
KT8 1.4389 % o> 7 ok FEHT54A ok FLHT 11
KT8 FL4389 7 D8 ok AT 5HE ok [T 10
K ,4389 7 HioD 10 ok T 6 ok T 43
KT8 F,43897: 1D 20 ok LT 64 ok LT 48
K ,4389 7% HioD 30 ok T 6 ok T 47
KT8 4390 H1 D8 ok AT 654 ok F AT 37
KT 1.4391 % H10>2 ok FET64H o FLlT 17
RFHE R A391 % H D3 ok LT 64 ok LT 18
KT 1.4393 % HoD8 ok FET64H ok FLHT 35
RFHE H.4395%F HioD 1 ok AT 5HE ok FLHT 28
KFHE 4395 % H1 D5 ok FEHT54A o FmT 3
KT8 4395 #1006 ok AT 5HE ok FLHT 6
RFHE RA395F DT ok FEHT54A o F T 7

,19,
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R 7 4% R b,
ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W i
RFHE RA396 % HD 1 ok FEHT54A o FmT 7 30
RFHE R A39TF /D3 ok AT 34 ok [T 10 26
RFHE RA3ITE H D4 ok FEHT 35A o F T 10 25
KT HA39TF MDA ok AT 34E ok LT 10 25
KFHE RA39TE /D5 ok FEHT 35A o F T 10 19
RFHE R A39TF /DS ok AT 34E ok LT 10 19
KFHE RA39TE H1 D6 ok FEHT 35A o F T 10 29
RFHE R A39TR DT ok AT 34 ok LT 10 23
KFHE RA39TE H1 DS ok FEHT 35A o FmT 10 22
KT 4397 D9 ok AT 3 ok FLHT 10 17
KFHE RA397F H1 D9 ok FEHT 35A o FmT 10 17
KT A39TF /D12 ok AT 3 ok FLHT 9 3
KFHE 4399 % 1D 2 ok FEHT 35A o F T 9 1




R 7 4% R b,

ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W (T
RFHE 4399 % H1 D3 ok FEHT 35A o FmT 9 29
KT8 43997 D3 ok AT 34 ok [T 9 29
RFHE RA399% H1D4 ok FEHT 35A o F T 9 28
KT HA399F& DT ok F BT 3 ok F AT 9 4
KFHE 4399 % 1D ok FEHT 35A o F T 9 5
K8 43995 D9 ok F BT 3 ok F AT 9 6
KFHE RA400 5 H1 D2 ok FEHT 35A o F T 9 26
KFHE L4400 % o> 2 ok AT 34 ok LT 9 26
R 4403 % Hh ok FEHT 2R o FmT 8 18
KT8 4404 Hi D4 ok AT 248 ok FLHT 8 19
KFHE RA404F H1 D6 ok FEHT 2R o FmT 7 33
KT 14406 F oD 1 ok FEHT 54 ok T 7 | 31-101 BB R10145
KRS 74406 F oD 1 ok T 5 ok EHT 7 | 31-102 S R1025

,21,
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R 7 4% R b,

jti-!jé.ﬂﬂ& 7 — m%ﬁ% i i = JLX T K 4 £ 2 T 4 W (T
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-103 G R103 5
R R A406 F oD 1 ok T 5 ok FHT 31-105 LA 105 5
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-106 S R106 5
R R 4406 F oD 1 ok EHT 5 ok HT 31-107 LB R107 5
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-108 S R108 5
R R 4406 F oD 1 ok EHT 5 ok HT 31-110 B R1105
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-111 RIS
R R 4406 F oD 1 ok EHT 5 ok HT 31-112 N R1125
RFHE RA406 % H1D 1 otk FE BT 5% ok LT 31-201 G R201 5
R R A4406 F oD 1 ok T 5 ok HT 31-202 S 2025
RFHE RA406 % HD 1 ok FE BT 5 ok LT 31-203 S R203 5
R R A406 F oD 1 ok T 5 ok HT 31-205 S 1,205 5
RFHE RA406 % HD 1 ok FE BT 5 ok LT 31-206 S RL206 5




R 7 4% R b,

jti-!jé.ﬂﬂ& 7 — m%ﬁ% i i = JLX T K 4 £ 2 T 4 W (T
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-207 G R207 5
R R A406 F oD 1 ok T 5 ok FHT 31-208 S 1,208 5
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-210 G R210 5
R R 4406 F oD 1 ok EHT 5 ok HT 31-211 B R211 5
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-212 NG R212 5
R R 4406 F oD 1 ok EHT 5 ok HT 31-301 LB ,301 5
RFHE RA406 % H1D 1 ok FE BT 5 ok LT 31-302 S R302 5
R R 4406 F oD 1 ok EHT 5 ok HT 31-303 S 1,303 5
RFHE RA406 % H1D 1 otk FE BT 5% ok LT 31-305 S R305 5
R R A4406 F oD 1 ok T 5 ok HT 31-306 S8 1,306 5
RFHE RA406 % HD 1 ok FE BT 5 ok LT 31-307 G R307
R R A406 F oD 1 ok T 5 ok HT 31-308 S 1,308 5
RFHE RA406 % HD 1 ok FE BT 5 ok LT 31-310 G R310 %5

,23,




_24_

R 7 4% R b,

ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W (T
RS 74406 F oD 1 ok T 5 ok HT 7 | 31-311 LA R311 5
KT8 71,4406 F oD 1 ok FEHT 54 ok T 7 | 31-312 LA R3125
KFHE RA40TF H1 D6 ok FEHT54A o F T 7 57
KFHE L4407 R Mo T ok AT 5HE ok LT 7 19
KRFHERA410F H1 D3 ok FE AT 2R o F T 7 44
KT 4410 Hi D4 ok AT 248 ok LT 7 43
RFHERA410F H1I D5 ok FE AT 2R o F T 7 42
KFHE L4410 % H10D6 ok AT 248 ok LT 7 40
KRFHERA410F HI DT ok FEHT 2R o FmT 7 39
KFHE L4410 HoD T ok AT 248 ok FLHT 7 39
RFHERA410F H1 D8 ok FEHT 2R o FmT 7 36
KFHE L4410 % H10D9 ok AT 248 ok FLHT 7 35
KRFHE A4 25 H1D2 ok FEHT 2R o F T 8 8




R 7 4% A b,
I8} * .
T o P o F K 4 F = 3 4 W (T

RS RA4 128 HoD3 ok FEHT 2R 8 9

KT A1 2% D4 ok LT 24 8 10

KT A4 128 HoD5 ok FE AT 2R 8 11

KT 14333 %D 1 ok FEHT A% 11 8 FiRT /4~ 01 5
KRS 74333 % oD 1 ok T 4 11 8 FiRT /$—h201 &
KT 14333 %D 1 ok FEHT A% 11 8 FiRT /4—1202 5
KRS 74333 % oD 1 ok T 4 11 8 FiRT /$—h203 &
RFHEHA413F M D1 ok LT 24 8 13 ¥z ba)—F AR101 %
RS R A413 % HoD1 ok FEHT 2R 8 13 v xbal)—F AR1025
RFHEHA413F D1 ok LT 24 8 13 ¥z ba)—F AR201 %
KRS 744135 oD 1 ik FEHT 240 8 13 v L) —F A202 5
KT HA413F D1 ok LT 24 8 14 v x/Lal)—7FB101%5
RS R A413% Hod1 ok FEHT 2R 8 14 ¥z /Lal) —F B1025

,25,
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R 7 4% R b,

ki.gﬂﬁz ﬁﬁ@% H}T%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W (T
KT R 44135 Hh D1 ok [T 24 ok LT 14 ¥ L3l —FBR201 5
KFEEHA413F D1 ok AT 240 ok AT 14 v val)—FBH201 %
KRS 44135 oD 1 ok T2 ok T 14 v L) —FB202%
KFEHRA414F D1 ok AT 2:4H ok F AT 3
KRFHERAA1AT /DT ok FE AT 2R o F T 4
KT R A4 DT ok AT 2:4H ok F AT 4
RFHE RAA1AT /D8 ok FE AT 2R o F T 5
KT HA414%E D8 ok AT 2:4H ok F AT 5
RFHERAA1AT /D8 ok FEHT 2R o FmT 5
KTFEHA415F M1 ok AT 240 ok AT 1
RS R A4 T ok [ AT 1RH2 ok FLHT 70
KT 441 TF D1 ik W] 12 ok T 70
KRS 441 TF D1 ok AT 142 ik T 70-101 a—R %101 5




x_ T & =y

ki.gﬂf Fﬁ@% m*ﬁ%{fﬁé’ﬁ% oW kK 4 % E I 4 B W%
KFRE R 4417/ D1 e AT /2 ok e HT 1 70-102 a—R—HE102 5
KRS R441 78 D1 fk AT /2 Fok I HT 1 70-103 a—R—#103%
KFHE R 4417/ D1 e AT /2 ok T 1 70-201 a—R—HE201 5
KRS R.441 7801 fk AT /2 fok MY 1 70-202 a—R—3#2025
KFHE R 4417/ D1 e AT /2 ok T 1 70-203 a—R—HE203 5
KRS R441 78 D1 fk AT /2 fok MY 1 70-301 a—R—3#3015
KFHE R 4417/ D1 e AT /2 ok T 1 70-302 a—R—HE302 5
KRS R441 78 D1 fk AT /2 fok MY 1 70-303 a—R—3#303%
KFRE R 4417/ D1 e AT /2 ok e HT 1 70-401 a—R—HE401 5
KRS RA441 78 D1 fk AT /2 fok MY 1 70-402 a—R—34025
KFRE R 4417/ D1 e AT /2 ok e HT 1 70-403 a—R—HE403 5
KRS R441 7801 fk AT /2 fok [ HT 1 70-501 —IEL L5015
KFRE R 4417/ D1 ke AT /2 ok e HT 1 70-502 a—R—HE502 5
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R 7 4% R b,

ki-géﬂﬂﬁz ﬁﬁ@% m%ﬁ%ﬁz%;ﬁ% oW = K 4 F & F 4 W (T
KRS 441 TF D1 ok AT 142 ik T 1 | 70-503 a— R 5035
KFHE 4418 F M 1 ok AT TRE ok [T 1 73
KFHE RA418F H1D6 ok FEHT 1R o F T 1 2
KFHE 4418 % HoD6 ok AT THE ok LT 1 2
RFHE A48T /DT ok FEHT 1R o F T 1 1
KFHE L4418 % H10D9 ok AT THE ok LT 1 3
RFHERA420F H D 1 ok FEHT 1R o F T 1 17
KFHE 4421 % HD 1 ok AT TRE ok LT 1 18
KRS RA422F D 1 ok FERT 1R o FmT 1 13
KFHE L.4422F o> 2 ok AT THE ok FLHT 1 11
RFHE RA422F 1D 3 ok FERT 1R o FmT 1 63
KT8 4422 Hi D4 ok AT THE ok FLHT 1 65
KRS RA423F M D 1 ok FERT 1R o F T 1 20




R 7 4% R b,
k$.§§i&{$ ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
KT 1.4423 % Ho>2 ok FEHT 1R o FmT 60
KT 4423 % #1006 ok LT 1E ok [T 62
KT 4423 % HoD8 ok FEHT 1R o F T 61
RFHE 4425 Hi D 1 ok LT 1E ok LT 23
RS 4425 % HioD 1 ok FEHT 1R o F T 24
RFHE 4426 F H D 1 ok LT 1E ok LT 28
KT H.4426 F Hio> 1 ok FEHT 1R o F T 28
RFHE 4426 Hi D4 ok LT 1E ok LT 27
KT 44278 #1006 ok FERT 1R o FmT 54
KT 4428 F D3 ok LT 1E ok FLHT 51
KT 1.4428 % H10>3 ok FERT 1R o FmT 51
KT HA428F DT ok F AT 1HE ok AT 53
RS 4429 HioD 1 ok FERT 1R o F T 34
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R 7 4% R b,
ki-gi&& ﬁﬁ@% m%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W (T
KT .4429 7% #1103 ok FEHT 1R ok FLHT 33
KFHE 4430 %MD 1 ok AT TRE ok [T 49
RS 44308 Hio> 1 ok FEHT 1R o FLHT 49
KT 4430 D2 ok AT THE ok LT 38
KT .4430 % H0>3 ok FEHT 1R o FLlT 37
KT 4430F D5 ok AT THE ok LT 40
KT .4492 % Hio> 1 ok FERT 7R o FLlT 19
KT 4492 D3 ok AT THE ok LT 14
KT .4492 % #o>3 ok FERT 7R ok FLHT 14
RS 11,4495 Hh fk AT 72 fok FLHT 8 TAE =2 TEEA— 1015
R 44957 Hh ok AT THE2 o FmT 8 TAL =277 HEA102%
R4 51,4495 Ht ok F M 7H 2 ok FLHT 8 TAL =2/ =T HEA1035
KFHE RA44952 fk AT 742 ok FlT 8 FAC—ZI T HEA— 2015




R F 4 RS A
ki-sﬁﬂﬂg Fﬁ@% mi’ﬁz%?ﬁ% o E R A E O3 4 T W5
RFRE R.A4957 H ok FLT 7HH 2 ok LT 2 8 TAE— A7 =T HEA2025
R4 51,4495 1l ok FEHT 72 ok F AT 2 8 TAE—27 T HEA2035
RFRE R.A4957 H ok FLT 7HH2 ok LT 2 9 TAE =27 TERE1015
KFHE 17,4495 F 1 Fok FeHT 742 ok T 2 9 FAE =277 EEB 1025
RFRE R.A4957 H ok FLT 7HH2 ok LT 2 9 TAE— A7 =T HEB201%
R4 .4495% 1l ok FEHT7HA2 ok F AT 2 9 TAE— 27T HEB202 5
RFRE R.A4957 H ok FLMT 7HH2 ok LT 2 10 TAE—A7 =T HECI015
KFHE 17,4495 F 1 Fok FeHT 742 ok T 2 10 T A =2y 7 EREC 1025
RFRE R.A4957 Hi ok LT 7HH 2 ok LT 2 10 TAE— A7 =T HEEC2015
R4 51,4495 1l ok FEHT 72 ok F AT 2 10 T A —27 T HEEC202%
KRS 7.44957 ok BT THA2 ok Tl 2 11 TAE—AZETEED— 1015
R4 144957 1l ok FEHT 72 ok F AT 2 11 TAE— 27T HED1025
RFRE R.A4957 H ok LT 7HH 2 ok LT 2 11 TAE— A7 =T HED201 5
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R 7 4% A b,
j{i.gﬂﬁz & m%ﬁg o F K 4 F &= i 4 (T
R 44957 Hh ok AT THE2 o FmT 11 TAL =277 HED202 %
KT8 44997 H1D6 ok AT THE ok [T 35
KT 1.4499 % o> 7 ok FERT 7R o FLHT 36
KT8 44997 H1D9 ok AT THE ok LT 44
KFHE R.4499% #1010 ok FERT 7R o F T 40
KT H4499F Hi D 11 ok AT THE ok LT 43
RFHE RA499F HD 11 ok FERT 7R o F T 43
KT8 4499 H1 D 12 ok AT THE ok LT 46
RFHE RA499% HioD 12 ok FERT 7R o FmT 46
KT8 4499 1D 13 ok AT THE ok FLHT 4
RFHE RA499% #1013 ok FERT 7R o FmT 4
RFHE 4499 Hi D 14 ok AT THE ok FLHT 47
RFHE RA499F H1D 14 ok FERT 7R o F T 47




R 7 4% R b,
j{i.gi&{a‘z ﬁﬁ@% H}T%ﬁ%ﬁz Fﬁ% oW = K 4 F & F 4 W i
RFHE RA499% HioD 15 ok FERT 7R o FmT 2
KT8 4499 H10D 16 ok AT THE ok [T 49
RFRE RA499F D17 ok FERT 7R o F T 46
KT8 4499 1D 18 ok AT THE ok LT 45
RFHE R.4499% #1019 ok FERT 7R o F T 44
KT8 F.44997 H1 D20 ok AT THE ok LT 43
RFHE 4499 % Hi D21 ok FERT 7R o F T 37
KT8 45009 H1 D2 ok AT THE ok LT 32
KT8 .4500 9% H10>3 ok FERT 7R ok FLHT 26
KT8 45009 Hi D4 ok AT THE ok FLHT 31
RFE 745009 Hi5 ok FERT 7R o FmT 30
KT8 4500 1D 5 ok AT THE ok FLHT 30
KT8 H.4500 % #1006 ok FERT 7R ok FLHT 29
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X T 4 PN %)
[H £ i #r E A
I S e v ¥ 7= % 7N i
K T & M m__# % 5 | " # 4w ff
KFAE 4502 FK: Hhod 1 ok T TR ok LT 22
RFHE 7,4502 % H D4 Fok T 7HE ok T 20




